
1) 47.3 x 12.7

Answer: ____________

2) 819 * 8-3

85

Answer: ____________

3) 2   4/19 - 6   8/19

Answer: ____________

4) 12/12 x 19/9

Answer: ____________

5) 12/12 x 19/9

Answer: ____________

6) (110)6

Answer: ____________

7) (4 x 1-3) - (8 x 23)

Answer: ____________

8) Find the percentage change from 1 to 
66.5

Answer: ____________

9)
64

5 /6

Answer: ____________

10) 1414/16 ÷ 32/3

Answer: ____________

11) 70% of 38

Answer: ____________

12) 10   4/10 - 15   8/9

Answer: ____________

13) (6 x 75) + (10 x 19)

Answer: ____________

14) Decrease 12 by 55%

Answer: ____________

15) Decrease 12 by 55%

Answer: ____________
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16) 99% of 49

Answer: ____________

17) 8/2 - 12/16

Answer: ____________

18) Write 6 x 106 as a normal number.

Answer: ____________

19) 7/15 x 18/9

Answer: ____________

20)
125

3 /9

Answer: ____________

21) 9.8 x 10.9

Answer: ____________

22) 9.8 x 10.9

Answer: ____________

23) Write 1 x 104 as a normal number.

Answer: ____________

24) What would you multiply by to 
increase an amount by 62%?

Answer: ____________

25) 6 x 9 + 7 x 5

Answer: ____________

26) 197/16 ÷ 84/12

Answer: ____________

27) 38% of 67

Answer: ____________

28) 38% of 67

Answer: ____________

29) 487.8 - 418.1

Answer: ____________

30) 487.8 - 418.1

Answer: ____________
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31) 420.7 - 71.4

Answer: ____________

32) 420.7 - 71.4

Answer: ____________

33) 17/3 - 16/14

Answer: ____________

34) Write 4 x 102 as a normal number.

Answer: ____________

35) Round 7.40372 to the nearest 100

Answer: ____________

36) 8/
14 ÷ 1/4

Answer: ____________

37) Round 4.8505 to the nearest whole 
number.

Answer: ____________

38) Decrease 57 by 54%

Answer: ____________

39) Decrease 30.1 by 84%

Answer: ____________

40) 45.6 - 287.4

Answer: ____________

41) Increase 88 by 53%

Answer: ____________

42) Increase 88 by 53%

Answer: ____________

43) An amount was increased by 10% to 
$347.00. Find the original amount.

Answer: ____________

44) What would you multiply by to 
decrease an amount by 7%?

Answer: ____________

45) (6 x 9-3) x (4 x 94)

Answer: ____________

Copyright 2020 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

October 19, 2020

Sr: 19102020-1763

 

http://www.geekschool.co.uk


46) Decrease 41.4 by 82%

Answer: ____________

47) 915 / 92

9-5

Answer: ____________

48) 13   19/20 - 8   10/12

Answer: ____________

49) Write 9 x 10-3 as a normal number.

Answer: ____________

50) 4% of 32

Answer: ____________

Total: ___ / 50
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Answers:

1) 600.71 2) 811 3) 84/19 4) 21/9 5) 21/9 6) 160 7) -60

8) 6550% 9) 32 10) 45/88 11) 26.6 12) 1022/45 13) 100852 14) 5.4

15) 5.4 16) 48.51 17) 31/4 18) 6000000 19) 14/15 20) 5 21) 106.82

22) 106.82 23) 10000 24) 1.62 25) 26) 2133/400 27) 25.46 28) 25.46

29) 69.7 30) 69.7 31) 349.3 32) 349.3 33) 411/21 34) 400 35) 7.4

36) 22/7 37) 5 38) 26.22 39) 4.816 40) -241.8 41) 134.64 42) 134.64

43) $315.45 44) 0.93 45) 216 46) 7.452 47) 922 48) 57/60 49) 0.009

50) 1.28
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